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import sys
sys.path.append("statlib™)
from xtest import linear_by_linear_test

linear_by_linear_test(r_i, n_i, x_i=None, verbose=True)
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X_ [10, 20, 30, 40, 50] # BEHONANEELETHOE
n_i = [30, 35, 47, 21, 45] # BEDODT— A
r_i [2, 4, 14, 13, 39] # BHEORIGT— R
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import sys
sys.path.append("statlib")
from xtest import linear_by_linear_test

a = linear_by_linear_test(r_i, n_i, x_i)

Linear-by-Linear test (Mantel-Haenszel test for trend)
chisq = 68.187, df =1, p value < 0.0001
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a = linear_by_linear_test(r_i, n_i, "wilcoxon")

Linear-by-Linear test (Mantel-Haenszel test for trend)
chisq = 67.703, df =1, p value < 0.0001

a = linear_by_linear_test([2,3,2], [7,7,7], "wilcoxon")

Linear-by-Linear test (Mantel-Haenszel test for trend)
chisq = 0, df =1, p value = 1.00000




